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— ~ Standard direct labor hours budgeted by ABC Company for February production were
2,000. Factory overhead at that level was budgeted at § 10,000, of which §$ 3,000
is variable. Actual direct labor hours for the month were 1,900. The standard labor
hours allowed for actual February production are 2,050. Actual factory overhead for
the month was $ 10,500.

Required:
Compute the spending variance, the variable efficiency variance, and the volume

variance, indicating whether the variances are favorable or unfavorable.
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= ~ DEF Company plans to market a new product. Based on its market studies,
management estimates that it can sell 5,500 units during the first year. The sales price
will be $2 per unit. Variable cost is estimated to be 409 of the sales price. Fixed
cost is estimated to be  $ 6,000.

Required:
__Compute the break-even point in dollars and in units. L
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= ~ GHI Company is considering purchasing a new machine to be used to manufacture a
new product, called Penton, which will sell for $25 a unit. Variable manufacturing
cost is expected to. be § 12 for each unit of .Penton manufactured, and variable
marketing cost is expected to be § 3 for each unit sold. The machine being
considered can produce 12,000 units a year, all of which the Marketing Department
believes can be sold for $25 a unit. The proposed machine will cost § 550,000.
Although the machine will probably last 10 years, management believes that the
product’s life cycle will be only 5 years. The salvage value of the new machine at the

*+ end of the product’s S-year life cycle is expected to be $ 125,000. Management does
riot believe the machine can be used to manufacture any of the company’s other

products.

Required:
Compute the excess of net pretax cash inflows from all sources over the cost of the

machine.
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Culture Company uses narmal costing, and manufacturing overhead is applied to work in process on the
basis of machine hours. On Jenuary 1 of the current year, there were no balances in work-in-process or
finished-goods inventosies. The following estimates were included in the corrent year™s budget.

Total budgeted manufacturing overhead - $306,000
Total budgeted hours 51,000
MO7 1,200 machine hours
T28 3,000 machinc hours
B19 1,200 machine hours

Required:

(a) How much manufacturing overhead was applied to production ducing Januaty? (5 49

(b) Prepare a journal entry to prorate the overapplied or underapplied overhead for January among the
Work-in-Process inventory, Finished-Goods inventory, sad Cost of Goods Sold accounts. (5 &)

Weather Instruments assembles products from component parts. It has two departments that
process all prodocts. During Janvary, the beginning work in process in the assembly
department was half complete as to conversion and 100% coxaplete as to direct materials. The
is applied at the rate of 50% of direct manufacturing labor costs. Ending work-in-process
inventory in the assembly department was 40% complete as to conversion and 100% complete
as to materials. All spoilage is considered normal and is detected at the end of the process.
Beginning work in process in the finishing department in February was 75% complete as to
conversion and ending work in process was 25% converted. Direct materials are added at the
end of the process. Beginning inventories incdluded $16,000 for transferred-in costs and $10,000
for direct manufacturing labor costs. Overhead in this department is equal to direct
e 2w

Units started this period 40,000 ?
Units transferred this period 50,(!!) 54,!!1)
Material costs added $44,000 $28,000
Direct manufacturing labor $16,000 $24,000
Required:

mammmmwhmmwm FIFO for

the finishing department. (20 4))
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Product Setups  Components Direct Labor Hours
Standard 3 30 650
Deluxe 7 50 150
Overhead costs ~ $20,000 $60,000

Required:

(a) Assume a traditional costing system applies the $80,000 of overhead costs based on direct labor

hours, what is the total amount of overhead costs assigned to the standard model? (1053)

(b) Assume that an activity-based costing system is used and that the number of setups and the

number of components are identified as the activity-cost drivers for overhead, what is the total
amount of overhead costs assigned to the standard model? (1053)
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